
Math Data Analysis Nums Ops and Algebra 8_9

Student Name:________________________________ Date:____________________

1. 

How many kids chose vanilla?

A. 20

B. 12

C. 25

  

2. 

{12, 3, 3, 6, 1.5}

mode = 

A. 6

B. 3

C. 12

3. 

Which has the greatest
mean number of eggs?

A. Geese

B. Chickens

C. Ducks

4. 

Popular Vegetables

Which is the least popular vegetable?

A. Corn

B. Green Beans

C. Tomatoes



5. 

mean Income  Income of Person C

A. =

B. <

C. >

  

6. 

{3, 9, 12, 4, 3, 7}

Which is least?

A. mean

B. mode

C. median

7. 

{5, 7, 17, 11}

mean = 

A. 10

B. 11

C. 9

8. 

{88, 16, 4, 22}

88 − 4 is the  .

A. median

B. mode

C. range



9. 

{1, 3, 3, 3, 10}

{1, 3, 3, 3, 5}

Which is different for the sets?

A. mode

B. median

C. range

  

10. 

Which class has the
highest median age?

A. Class C

B. Class B

C. Class A

11. 

{1, 7, 7, 9, 11, 13, 84}

Which is least?

A. mode

B. mean

C. median

12. 

{1, 3, 8, 99, 99}

range = 

A. 42

B. 99

C. 98



13. 

Jump Rope Count

range of jumps = 

A. 17

B. 12

C. 36

  

14. 

median = 

A. 12

B. 4

C. 50

15. 

range of numbers of kids = 

A. 10

B. 22

C. 15

16. 

A: {3, 5, 5, 5, 7}

B: {5, 7, 7, 9, 9}

median of A  median of B

A. <

B. >

C. =
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